10 ( 850kW x10 = 8,500kW)
5 (1,700kW x 5 = 8,500kW)

(8,500kW)
19.18GWh/ x 17 =326.06GWh 25.7%
CO, 10,644ton/ x 17 =180,963ton
5 (8,500kW)
16.16GWh/ x 17 =274.72GWh 21.7%
CO, 8,968ton/ x 17 =152,470ton
10 -5

326.06GWh — 274.74GWh = 51.32GWh 840
25.7% -21.7% = 4.0%
CO; 180,963-ton - 152,470ton = 28,493ton

1 3,600kWh
1kWh CO, 0.000555[t/kWh]




EAHH
° EE{IN
| RobaNC R

| [ehENUTE Y

=
B 5 amEwze
I maammsn

[ mhromwses

I e R
I mxamE
] meamwe
[ mramws
| EEaEEdes




(2,000kW x 39 = 78,000kW) (3,000kW x 27 = 81,000kW)
(3,000kW x 26 = 78,000kW)
(78,000kW)
149.643GWh/ x 17 =2,543.931GWh 24.4%
CO;, 83,052ton/ x 17 =1,411,882ton
(78,000kW)
130.800GWh/ x 17 = 2,223,600GWh 19.1%
CO, 72,594ton/ x 17 = 1,234,098ton

2,543,931GWh - 2,223,600GWh = 320,331GWh 5,200
24.4% - 19.1% = 5.3%

CO, 1,411,882ton - 1,234,098ton = 177,784ton
1 3,600kWh
1kWh CO- 0.000555[t/kWh]



